Fyzioterapie Czech Il progress test 1
30 points, PM 21

1 Use the words in brackets in the correct forms of genitive.

Example: LoZnice je vedle (obyvdk). LoZnice je vedle obyvdku.

2 KDE or KAM? Complete the correct question word.
Example: KAM chcete jit vecCer? — Chceme jit na koncert.

3 Complete the correct verb from the box.

_/6

_/A

_/A

‘}DU verb verb ...

Example: Dneska JDU na schizku.

4 Underline the correct option.
Example: Proc jsi neprisel/odesel na ndvstévu?

™ U4
5 Start the physiotherapist’s question with one word.
Example: dobre? — Slysite dobre? — NeslySim vas.

_/A

_/6

6. Fill in the missing word. Choose from the box. Don’t change the forms of the words. There

is one EXTRA word.

_/6

| BOL- WORD WORD

Example: mé hlava. Boli mé hlava.



